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QUESTION NO: 1

existFusionlnsight HDcluster, aboutkinitOperation command, which of the following statements is wrong? (multiple choice)
A. Only the HMI account can be used.

B. Only the machine account can be used.

C. A client does not support the simultaneous use of multiple accounts.

D. The ticket obtained by executing this command is intwenty fourlt will time out when it is small and needs to be executed
againkinitcommand to log in again.

ANSWER: ABC

QUESTION NO: 3

An application requires simultaneous and twoFusionInsightsCluster interaction: both need to access the
cluster1ofHBaseservice, need to visit

Ask the cluster2ofHiveServe;
So which of the following operations are required? (multiple choice)
A. in the cluster1Create the account required for this application on theHBaseServe

B. in the cluster2created onAThe account with the same name in the options, and set this account to be able to access the
cluster'sHiveServe

C. Aoptions andBThe account created by the option must belong tosupergroupGroup

D. cluster1and cluster2Complete the mutual trust operation

ANSWER: ABD

QUESTION NO: 4

Fusionlnsight HDofStreamingforZooKeeperweak dependency, even ifZooKeeperFault
StreamingServices can also be provided as normal.
A. True

B. False

ANSWER: B
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QUESTION NO: 5

.existFusionInsight HDin, useSparkSQL, which of the following methods (or tools) can be used to performSQLstatement?
(multiple choice)

A.JDB, C

B. spark-beeline

C. spark-sql

ANSWER: ABC

QUESTION NO: 6

existSparkmiddle,SparksQLis an independent module that does not depend onSparkCorefinish independentlySQL Actions
such as the corner line of the statement.

A. True

B. False

ANSWER: B

QUESTION NO: 7

aboutStreamingdisaster recovery capability, which of the following statements is correct? (multiple choice)

A. SupervisorAfter the process exits, it can beNimbusAutomatically identify and pull up without affecting running business.
B. WorkerCan be used after abnormal exitSupervisorPulls up automatically without manual intervention.

C. When a node fails, the tasks on the node will be reassigned to other normal nodes without manual intervention.

D. NimbusAfter the failure, the backupNimbuslt will take over automatically without affecting the running business.

ANSWER: ABCD

QUESTION NO: 8

A project needs to count the Internet access in a certain area and the serious crime in the area. Please make it clear that
Nanyao teaches Huajin that it needs to be preserved, and fully check this

Are there sensitive information in these Internet records for pre-optimal solutions?
A. existsorCreate an index on the database, save the data, and return all the data when the full text is checked.

B. existHBasestore data on theHBaseThe filtering characteristics of , satisfy fuzzy matching query.
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C. When storing data, inSolrOn the construction of information, through the customs messenger is on the electricity, if the
lack of quality, Wan Mo dad will put the complete data,

D. When querying, bysorFull-text search to obtain record key

ANSWER: D

QUESTION NO: 9

Fusionlnsight HDWhich of the following belong toOozieofMapReduce Actionconfiguration item? (multiple choice)
A. name-node

B. source

C. mapred.mapper.class

D. job-tracker

ANSWER: ACD

QUESTION NO: 10

aboutFusioninsight HDofSpark, which of the following programming languages can be used to developSparkapplication?
(multiple choice)

A.C
B. Scala
C. Java

D. Python

ANSWER: BCD

QUESTION NO: 11

FusionInsight HDin, useStreamingofLinuxWhen submitting a topology in command line mode, you need to first use a
StreamingUser with submit permissionkinitway authentication

A. True

B. False

ANSWER: A
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QUESTION NO: 12

Fusionlnsight HDin, aboutHive UDFsSecondary development, is the following description correct? (multiple choice)
A. user definedUDFBefore being used, it needs to beHivecreate this in the systemUDF.

B. user definedUDF, information such as summary and status is not allowed.

C. user definedUDF, can be added according to the actual situationdeterministicandstatefulletc. Annotation

D. Under the secure cluster, user-definedUDF, it is recommended to create it once before each use.

ANSWER: A

QUESTION NO: 13

FusionInsight HDin, aboutHivethe data load function (viaHiveofLOADcommand guide

input data), which of the following descriptions is wrong?

A. available fromHDF Sdirectly into thehivesurface

B. available fromHiveServerThe local hard disk of the node is directly loaded into thehivesurface

C. It can be directly loaded from the local hard disk of the node where the client is located.hivesurface

D. HiveThe data loading process does not parse the specific file content, mainly the process of file transfer

ANSWER: C

QUESTION NO: 14
aboutstreamingdisaster recovery capability, which of the following statements is correct? (multiple choice)

A. SupervisorAfter the process exits, it can beNimbusAutomatically identify and pull up without affecting the running
business

B. WorkerCan be used after abnormal exitsupervisorsPulls up automatically without manual intervention
C. When a node fails, the tasks on the node will be reassigned to other normal nodes without manual intervention

D. NimbusAfter the failure, the backupNimbuslt will take over automatically without affecting the running business

ANSWER: ABCD

QUESTION NO: 15

When a task is submitted toYARNIn the cluster, which of the following options will generate ajob id?
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A. ResourceManager
B. Contaioner
C. AppMaster

D. NodeManager

ANSWER: A

QUESTION NO: 16

FusiontnsightHD in which ways can you viewOozieDebug results of the job? (multiple choice)

A. mouth viewOozieofJava APIWhether the returned result is as expected

B. mouth throughHueofworkflowDashboard to view program running results

C. mouth throughHue's file browser to see ifHDFSThe specified directory produces the expected file

D. mouthOozieself-containedWebThe interface can also view the job execution results

ANSWER: ABCD

QUESTION NO: 17
existSparkin application development, which of the following codes can correctly count words?

A. rval counts = textFile.map(line => line.split("")).map(word =>(word,
1)).reduceByKey(+)

B. val counts = textFile.flatMap(line => line.split(")).map(word =>(word,
1)).reduceByKey(+)

C. vrval counts = textFie.map(line => line.split(")).map(word =>(word,
1)).groupByKey( )

D. vrval counts = textFile.flatMap(line => line.split("")).map(word =>(word,
1)).groupByKey( )

ANSWER: A

QUESTION NO: 18

existFlumeDuring cascaded transfers, you can usefail overmode transfer, so that if the next hop isFlumenode failure or
When the data is received abnormally, it can automatically switch to another way to continue transmission.

A. True
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B. False

ANSWER: A

QUESTION NO: 19

aboutRedisCluster topology information, is the following description correct?
A. The client caches the topology information of the cluster

B. The server caches the topology information of the cluster

C. both are

D. more than two

ANSWER: C

QUESTION NO: 20

Fusionlnsight HD a completeStreaming CQLThe application contains at least which of the following part? (multiple choice)
A. Create an input stream

B. Create output stream

C. Business action statements (such asSELECT,INSERT,JIONWait)

D. Apply commit statement

ANSWER: ABCD
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